51

BE=ZA=1+—HLEE

—EE—F —EE_F —EE=F —EEFNF —EERF

FEIT FAEIT FET FAET FET

EE X 168,866 166,339 186,707 159,832 182,661

Biay (B1|) &H (55,759) 14,968 21,495 20,372 12,279

e (184) (339) (10,511) (1,121) (5,519)

RV BB RER 2 (BE) &R (55,943) 14,629 10,984 19,251 6,760

DEBRRES (1,174) (1,185) (119) (347) (200)

REE (FE)ZF (57,117) 13,444 10,865 18,904 6,560
EERAEE

NR=BA=+—H

— T —F —EEF — 2R =F —ETENF —EETREF

FET FAEIT FET FAET FET

EEHAE 181,585 190,358 235,443 249,868 236,869

EEHAEE (29,055) (34,804) (73,146) (68,320) (52,769)

DPEBRRER (4,128) (2,188) (2,306) (2,653) (2,854)

BRES 148,402 153,366 159,991 178,895 181,246






